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For example, “Chapter 3: L4 A and B” review standards from chapter 2 and
from lessons 1 — 4 of chapter 3. They should be completed after teaching
lesson 4 in chapter 3.

These math sheets are great to use as a review before introducing the next
lesson, as morning work, and as homework.

There are 2 worksheets with the same type of problems for each lesson. Copy
front and back. Do side “A” in class and send side “B” home for homework.
Or do side “A” as guided practice and “B” for independent work, assessment,
etc!

Can be used as a daily math review
with any CCSS math series.
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store.
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Chapter 3: L1 A Name

: : : re s . . . .
Jill picked 3. Jane picked 6. Qﬁ R ¥ sled slof slof
How many more flowers PA Ay ye ye
did Jane pick than Jill? ' S ' ' '

a O< z—®< a O<

Mot Al
= more flowers

The boy had 11 pennies. He lost 4 of them. How many does he have now?
Draw a picture to solve and write the subtraction sentence.

Find the missing part.

10

Circle the addends. Underline the sum.

8+6 =14

Write two addition sentences you can use to solve this problem.
The girl has 5 blue shirts and 6 red shirts. How many shirts in all?

+ = + =
Add.
Change the order 2 4
of the addends. +6 + +5 4
M' © Donna Walker 2013




Chapter 3: L1 B Name

_ Jose ate 2. Ron ate 5.
How many more strawberries . . ' . .

did Ron eat than Jose?

- = . . more strawberries

.| The dog had 10 bones. He buried 3 of them. How many does he have now?

Draw a picture to solve and write the subtraction sentence.

Find the missing part.

Circle the addends. Underline the sum.

9 +7 =16

Write two addition sentences you can use to solve this problem.
The boy has 9 blue hats and 2 black hats. How many hats in all?

+ = + =
Add.
Change the order 6 8
of the addends. +1 + +2 +
M' © Donna Walker 2013




Chapter 3: L2 A Name

Start at 5 and write the numbers to 12.

Margo has 6 markers. Eli has 4.
How many more markers does
Margo have than Eli?

Draw a picture to solve.

more markers

.| What is the difference?

[
@ &%

4 4 i i
S Sk

OO

.| Circle the addition sentences that have the same addends in a different order.

5+6=11 7+4=11 6+5=11 11+0=11
.| Circle th t ddend.
ircle egre.a er adden 6 3 a
Count on to find the sum.
+2 +8 +6

Circle the greater addend. Count on to find the sum.

3+9= 10+2=

© Donna Walker 2013




Chapter 3: L2 B Name

_| Start at 7 and write the numbers to 14.

Rico has 8 apples. Ming has 5.
How many more apples does
Rico have than Ming?

Draw a picture to solve.

more apples

.| What is the difference?

o

OO —

.| Circle the addition sentences that have the same addends in a different order.

9+3=12 1+11=12 11+1=12 12+0=12
.| Circle the greater addend. 7 2 3
Count on to find the sum.
+2 +9 +3
_ Circle the greater addend. Count on to find the sum. © Donna Walker 2013
7+3= 12+2 = 2+9-=




Chapter 3: L3 A Name

.| Write two addition sentences that have a sum of 10.

O__0 O__0

_| Some boys were playing soccer.
2 of them went home.

That left 4 boys playing soccer. -2=4
How many boys were playing soccer at first?

| Josh picked 3. Carl picked 5. ‘ ‘ ‘ ‘ ‘
How many fewer apples
did Josh pick than Carl?
‘ ‘ ‘ _____fewerapples

-| Start at 11 and write the numbers to 18.

.| Write the doubles fact
and find the sum. Ol O O3
+ = ]
Circle the doubles fact. 5+0=5 0+4=4

4 + 4 = 8 4 + 1 = 5 © Donna Walker 2013




Chapter 3: L3 B Name

1.| Write two addition sentences that have a sum of 8.

O__ 0 O

9

Some kids were playing tag.
| 3 of them went home.

That left 6 kids playing tag.
How many kids were playing tag at first?

does Jim have than Brad?

e B b

3 Brad has 4. Jim has 3.
How many fewer cats E ) @ @ @

fewer cats

4. Start at 9 and write the numbers to 16.

5.| Write the doubles fact
and find the sum. Ol OO |01
+ = o H
6 Circle the doubles fact. 3+3=6 3+1=4
2 + 3 - 5 4 + 0 = 4 © Donna Walker 2013




Chapter3: L4 A Name

.| Suzy has 3 more blue crayons

than yellow crayons.

Draw a picture to compare.
Use circles for blue.

Use squares for yellow.

.| Find the missing part.

.| Circle the greater addend. Count on to find the sum.

1+9-= 7+5-= 6+8=
Circle the doubles fact. 7 0 4 2
+ 1 + 8 + 4 + 6
8 8 8 8
Add. .
oO|lo [ 3+3= o|lo |o [ 3+4=
olo|o QO o|lo|o|e @
Solve the doubles fact. olololoh 4+4-=
Add one more cube.
Write the new fact. olololoh + =

Solve the new fact.




Chapter 3: L4 B Name

.| Frank has 5 more blue pens

than yellow pens.

Draw a picture to compare.
Use circles for blue.

Use squares for yellow.

.| Find the missing part.

.| Circle the greater addend. Count on to find the sum.

2+8= 6+3= 2+9=
Circle the doubles fact. 6 a a 5
+ 2 + 4 +5 + 4
8 8 9 9
Add.
O
°F 2+2= °l°H 2+3=
ol|lo b oOlo|e @
Solve the doubles fact. sToToh 3+3=
Add one more cube.
Write the new fact. H + =
Solve the new fact. il e




Chapter 3: L5 A Name

_| The girls were looking for butterflies. Sue found 5. Dee found 3 less.
How many did Dee find? Finish the picture to solve.

Sue’s butterflies: u u u n u

Dee’s butterflies Dee found butterflies.

.| Subtract.

6 6 8 6 5
- 1 -0 -3 -6 -2

Start at 13 and write the numbers to 20.

Circle the doubles fact.

0+3=3 3+3=6 3+0=3

Use doubles plus one to solve 4 + 5.

4+4=8  S0,4+5=

o|o|ojo|en

Use doubles minus one to solve 4 + 3.

. 4+4=8  S0,4+3=




Chapter 3: L5 B Name

-| The dogs were digging for bones. Sadie found 5 bones. Dewey found 2 less
than Sadie. How many bones did Dewey find? Finish the picture to solve.

Sadie’s bones: gumg umg Sumg Sumg Sum@
Dewey’s bones: Dewey found bones.

.| Subtract.

4 4 8 6 5
- 0 - 4 - 4 -2 -3

Start at 10 and write the numbers to 17.

Circle the doubles fact.

0+1=1 1+2=3 1+1=2

Use doubles plus one to solve 5 + 6.

5+5=10 So0,5+6=

olo|o|olo |ep

Use doubles minus one to solve 5 + 4.

SEEERE 5+5=10 So,5+4=




Chapter 3: L6 A Name

There were six people at the birthday party, but there were only 4 hats.
How many people did not have hats? Draw a picture to solve.

people

.| Write three addition sentences that have a sum of 9.

oO__0O O O O O

olof Use doubles and doubles plus one to solve.
olole [
2+2= S0,2+3=
ol o Use doubles and doubles minus one to solve.
\_/
o [ X 2+2= S0,2+1=
/ N\
Use doubles plus 1 to add. Use doubles minus 1 to add.
5+5=_ 4+4=___ 3+3=___ 7+7=___
S5+6=___ 4+5=___ 3+2=___ 7+6=___

Circle the greater addend.
Count on to find the sum.

9 2 9
+ 3 +3 +7 + 6 +2

Donna Walker 2013




Chapter 3: L6 B Name

There were 7 dogs, but there were only 5 bones.
How many dogs did not have a bone? Draw a picture to solve.

dogs

.| Write three addition sentences that have a sum of 7.

oO__0O O O O O

Use doubles and doubles plus one to solve.

3+3=___ S0,3+4=___

olo | o[ Use doubles and doubles minus one to solve.

\_/
oo | X1 3+3=___ So,3+2=___

/ N\
Use doubles plus 1 to add. Use doubles minus 1 to add.
3+3=___ 5+5=__ 4+4=__ 6+6=__
3+4=__ 5+6=___ 4+3=__ 6+5=__

Circle the greater addend.
Count on to find the sum.

8 2 6
+ 4 +9 + 7 + 8 +4

Donna Walker 2013




Chapter 3: L7 A Name

Wes and Nate each hit 4 homeruns. How many homeruns did they hit all
together?

— O e O ——
Find th issi t.
in e missing par 10
10 - =4
_ 4
Use doubles plus 1 to add. Use doubles minus 1 to add.
5 5 7 7
+ 5 + 6 + 7 + 6
_| Circle the greater addend. Count on to find the sum.
9+3= 3+8= 2+7=
What number sentence does this model show?
' o 7+6=13 : : : : :
o 10+3=13
o 9+4=13 00660
Draw circles to show the other addend. . . ' ' .
Writethesum. 10+ 5= ‘ ' . . .

© Donna Walker 2013




Chapter 3: L7 B Name

Will and Jim each ate 3 cookies. How many cookies did they eat all
together?

O O
Find th issi t.
in e missing par 11
11 - =5
- 5
Use doubles plus 1 to add. Use doubles minus 1 to add.
8 8 8 8
+ 8 + 9 + 8 + 7
_| Circle the greater addend. Count on to find the sum.
11+ 3 = 2+9= 8+3=
What number sentence does this model show?
' o 7+8=15 : : : : :
o 9+6=15
o 10+5=15 00000
Draw circles to show the other addend. . . ' ' .
Writethesum. 10+ 3 = ‘ ' . . .

© Donna Walker 2013




Chapter 3: L8 A Name

Juan wants to find the sum of 3 + 4. o A4+4+1
Which has the same sum as 3 + 4? o 3+3+1
o 2+2+1
.| Subtract. 7-1= 9-7= 7-6=
2-2= 9-0-= 3-2=

Use doubles plus 1 to add. Use doubles minus 1 to add.
l6+6=_ 7+7=___ 5+5= 8+8=_
6+7=___ 7+8=___ 5+4=___ 8+7=___

What number sentence does this model show?

0000
® 0|0|0|0
© Donna Walker 2013 O O

<+ =

Draw to make a ten. Write the new fact.
o000 0

o0 0 8

+3 +




Chapter 3: L8 B Name

Kim wants to find the sum of 5 + 6.

o 3+3+1
Which has the same sum as 5 + 6? o 4+4+1
o 5+5+1
.| Subtract. 7-7 = 9-4= 7-1=
2-0= 8-2= 3-0=
Start at 15 and write the numbers to 22.
Use doubles plus 1 to add. Use doubles minus 1 to add.
l2+2=_ 5+5=___ 6+6=_ a+4=__
2+3=___ 5+46=_ 6+5=__ 4+3=__
What number sentence does this model show?
. 0000
® O 0|00
© Donna Walker 2013 O

Draw to make a ten. Write the new fact.
o000 0

o0 7

+ 5 +




Chapter 3: L9 A Name

Use doubles and doubles plus one to solve.

OO0 |0|0
o|olo|o|lolem  5+5=___ S+6=___
6 ladybugs were in the grass. Draw a picture to solve.

'| 2 grasshoppers were in the grass.

How many more ladybugs than
grasshoppers were in the grass?

Show a way to take apart 7.

O|lO|O0|O|O|O |0

Add.
10+6=___ 7+10=__ 5+10=__ 10+8=___
10+9=___ 0+10=___ 10+3=___ 4+10=___

Draw to make a ten. Write the new fact.

8
+ 6 +

What two number sentences does this model show?

+ =

<+

© Donna Walker 2013
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Chapter 3: L9 B

Name

o100

olo|lolenr 3+3=__ 3+4=

Use doubles and doubles plus one to solve.

7 hamsters were at the pet store.
5 rabbits were at the pet store.

How many more hamsters than
rabbits were at the pet store?

Draw a picture to solve.

Show a way to take apart 8.

OO0 |0 |O0|Oo|O|0|0H

Add.
10+7=___ 3+410=
9+10=__ 10+5=___

9+10=___ 4+10=___

10+6=__ 8+10=__

Draw to make a ten. Write the new fact.

7
+ 6 +

What two number sentences does this model show?

+ =

<+

© Donna Walker 2013 O O O O




Chapter 3: L10 A Name

_| Lynn found 3 starfish at the beach. Chase found 3. Kevin found 2.
How many starfish did they find all together? Draw a picture to solve.

Which has the same sum as 3 + 4?

o 4+4+1 o5+5+1

o 3+3+1 02+2+1

What is the difference?

RS

What two number sentences does this model show?

<+ =
+ =
of [ na | BBk [o]o]o]e}
2+3+1
= 2 + =

Add the circled addends first.

DUOITRE oo

+ 8= 2 + =
© Donna Walker 2013




Chapter 3: L10B Name

_| Tammy got 3 goldfish at the fair. Eric got4. Maggie got 1.
How many goldfish did they get all together? Draw a picture to solve.

Which has the same sum as 5 + 6?

o 4+4+1 o5+5+1
o 3+3+1 02+2+1

What is the difference?

—o—o— 118

What two number sentences does this model show?

o000 0
p— 0 00|00
+ = 0 0

= 2 + =

Add the circled addends first.

' oo oo @] Add . X xic
2+4+1
+ 1
OEOJEN ()2
_+

7= 2 + =

© Donna Walker 2013




Chapter 3: L11 A Name

.| How many fewer cats than dogs? % %%
iy
Cad €N €N 6D 6D 6D

a7

fewer cats < : | :
ala) il an o0 afia ala

Start at 14 and write the numbers to 21.

"| Count on to find the sum.

Circle the greater addend.

+
N A

8 2 9
+4 +8  +3

Draw to make a ten. Write the new fact. Add.

7+4=__

+ =

-| Find the missing part.

+7=10
10

© Donna Walker 2013
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Chapter 3: L11 B Name

.| How many fewer bears

than elephants?

fewer bears

"| Count on to find the sum.

Circle the greater addend.

+
H 00
+

O N

9 7
+4 +2

Draw to make a ten. Write the new fact. Add.

8+5=
<+ =
-| Find the missing part. 6
+6=8
8
© Donna Walker 2013
Add the circled addends first. 6 2
ONNO
+2 +3 ++3=_ +@/ +




Chapter 3: L12 A Name

Gabby has 3 candy bars.
"| Kate has 2 more than Gabby.
How many candy bars does Kate have?

Draw a picture to solve. Kate has candy bars.

Nate had 10 dimes. He spent 4 dimes. How many dimes does he have now?

O O
dimes

.Whlchhasthesamesuma58+9? o 7+7+1

o 8+8+1

o 9+9+1
Use doubles plus 1 to add. Use doubles minus 1 to add.
2+2=_ 8+8=__ 3+3=___ 6+6=__
2+3=___ 8+9=_ 3+2=__ 6+5=_

Beth read 4 books. Frank read 6 books. Ann read 2 books.
How many books did they read in all?

O O O

What two number sentences does this model show?

+ =

+ © Donna Walker 2013 O O O O




Chapter 3: L12B Name

Amy has 4 pets.
Billy has 2 more pets than Amy.
How many pets does Billy have?

Draw a picture to solve. Billy has pets.

Luke had 9 oranges. He ate 4 of them. How many oranges are left?

O O
oranges
i ?
.Whlchhasthesamesumas7+8. o 7+7+1
o 8+8+1
o 9+9+1
Use doubles plus 1 to add. Use doubles minus 1 to add.
3+43=___ 7+7=__ 4+4=___ 5+5=__
3+4=___ 7+8=___ 4+3=___ S5+4=___

Dave found 4 shells. Tom found 6 shells. Ann found 1 shell.
How many shells did they find in all?

O O O

What two number sentences does this model show?

+ =

+ © Donna Walker 2013 O O O O O




